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1,430
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1,001

H

Al
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210
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H
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2,383,500

—Jl2s

3

[und

2| x2

1,430,100

JHel

ok
RU
8o

128

2l *

50,000

-

a0
<+
o+
i
<+
ur

ro
i
-

£l

10

4« 123 %3.43%

o
=

2,383,500

ro
uil
I+

)

o0
of
K0
o)
H

4« 123 *11.52%

o
=

81,750
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128 *4.5%

2,383,500




2AN: otegEAX A
HE: HW2ARY (L RAN L)
Crol: o2 oyl (G2 R AT 4) (el @)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
—sDeolarEa
2,383,500 x12& *1.65% 472
J| 236
== 71
Al 165
—MHEEII2EES
2,383,500 x12& *0.94% 269
J| 135
== 40
Al 94
—E AN =2 2,383,500& *13] 2,384
J| 1,192
o= 358
Al 834
— X8> 100,000& =128 1,200
X OHotA M2 (1A Hl) 449,370 338,834 110,536
J| 353,737
Al 95,633
101 2121 4| 449,370 338,834 110,536
J| 353,737
Al 95,633
02 JIEA 2 %= 238,709 82,382 156,327
OAMZAEBIHAIMEBR 2AAHH(7H) 238,709
A== 12,530,000& ~12& 150,360
J| 120,288
Al 30,072
— HHZAH| 140,000& »7H 12 11,760
J| 9,408
Al 2,352
=y | 126,880 x7H ~12& 10,658
J| 8,526
Al 2,132
— A2t 88,870& x7H x12& 7,466
J| 5,973
Al 1,493
- JIExE 120,000& *7H «12& 10,080
J| 8,064
Al 2,016
—dHE 19,227,000 1Al 19,227
J| 15,382
Al 3,845
— A2 A 12,530,000 *86%*1/30*10 3,592
J| 2,874
Al 718
— AN 2 14,200, 160& 13| 14,201
J| 11,361
Al 2,840
— A28 2A242
14,398, 160& *12& *6.99%*50% 6,039




2AM: StEEAR L
M HER2GGUI(BILEHX L)
Crol: ol 2l (52 R A 4) CERED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Il 4,831
Al 1,208
—Z3JYINARES 6,039,000& *11.52% 696
J| 557
Al 139
—1EEEI2AREZ
14,398, 160 *12& »1.75% 3,024
9 2,419
Al 605
—MTHEEINZRE S
14,398, 1602 » 12& *0.929% 1,606
J| 1,285
Al 321
03 BRI (RINAHY) 2= HES 210,661 256,452 AN 45,791
ORINHAXZZ A 1A (6H) 210,661
—Jles 13,220,000& 128 158,640
J| 126,912
Al 31,728
— ZE S| 13,220, 0003 *40%*23] 10,576
| 8,461
Al 2,115
—SAXE 3 14,701,340 *13] 14,702
| 11,762
Al 2,940
—AyRHIIBRYD
14,701,340& 123 x6.99%*50% 6,166
bl 4,933
Al 1,233
— &I RYBEINARYES
6,166,000 *11.52% 711
| 569
Al 142
— 2oe3)ARYS
14,701, 3402 » 128 »9%*50% 7,939
J| 6,351
Al 1,588
- DeREIBRL
14,701,340 » 128 »1.75% 3,088
J| 2,470
Al 618
—MNEEI2ARES
14,701,340 *12& »0.929% 1,639
J| 1,311
Al 328
—X23aY 100,000& x6H 123 7,200
Jledul (ot 8AH R L) 63,540 60,428 3,112
Jl2dtl (ot 2 AH R A) 63,540 60,428 3,112
201 Let249] 19,500 20,468 A 968




SEAIA
H29Ad|(stg2AHAXA)
=2HH| (I EH X M) )
(o
CEB B (3H) - HRAY - BAS %@i 2t
01 AP 22| H| 19,500 20,468 A 968
Ogbt4=24| 12,972
—JI2BARES 100,000& 17X 1,700
— A2 23,000 108 A %1200 & 2,760
— E A =4&H| 500,000 =2CH 1,000
— 2A X2(ey & EYH 2¢)
480,000 x1CH 43| 1,920
— DR SXZ2(EY 2Y)
237,000 *4CH x4 3] 3,792
—HAZSE A (Y EBAHXA FHAH
150,000& =123 1,800
O=3&H| 6,528
—BAANYE =X L HAZR EZ200AH]
8,000 x17H 43| x12& 6,528
202 o4 | 40,800 36,720 4,080
01 2Ol Hl 40,800 36,720 4,080
OdtdE2AHR A ERFE | 40,800
— 2 &0 20,000 1728 x103| x12& 40,800
203 R F & 3,240 3,240 0
04 EASHEYRFAH| 3,240 3,240 0
OstgE8AH XA 300,000& x12& *90% 3,240




